Homework #2
(1) Using data obtained by the World Health Organization below, calculate the annual incidence rate of Pertussis (whooping cough) in New Zealand in 2002 and compare it to the annual incidence rate in 2001.  

	New Zealand -   Population data in thousands 2 

	  
	2002
	2001
	2000
	1999
	1998
	1990
	1980

	Live births 
	54
	54
	54
	54
	54
	58
	50

	Female 15-49 years 
	968
	965
	963
	961
	960
	884
	763

	Pop. less than 15 years 
	869
	869
	867
	863
	858
	786
	832

	Pop. less than 5 years 
	273
	275
	277
	281
	285
	274
	248

	Surviving infants 
	54
	54
	54
	54
	55
	57
	51

	Total population 
	3 846
	3 815
	3 784
	3 752
	3 719
	3 360
	3 113

	


	  New Zealand -   Number of reported cases 

	  

	Diphtheria   
	1
	0
	0
	0
	1
	0
	1

	Measles   
	21
	65
	65
	106
	164
	-
	-

	Pertussis   
	1 068
	4 143
	4 143
	1 046
	153
	91
	0

	Polio   
	0
	0
	0
	0
	0
	0
	0


 (2)  The annual incidence rate of Pertussis in the United States in 2001 was 1 in every 100,000 people and in 2002 was 3 in every 100,000 people. How does this compare to the rate and trend in New Zealand? Suggest contributing factors that may help to explain the difference.
More information about Pertussis from the CDC can be found at http://www.cdc.gov/nip/publications/pink/pert.pdf
Sources of data for this exercise can be found at http://www.who.int/country/en/
(3)  War creates tremendous challenge in meeting the health needs of people near the conflict.  Read the article entitled “Deadly comrades: war and infectious diseases” published in The Lancet Supplement (2002, Dec) 
(a)  According to Connolly, crude mortality rates over 60 times higher than baseline have been recorded when populations are suddenly displaced in temporary settlements due to war.  Current estimates indicate as many as 900 000 displaced persons in Iraq.  If the baseline adult mortality rate in Iraq according to the CIA is, 5.84 deaths/1,000, how many people could be expected to die at baseline rates out of the number who are displaced this year if the displacement has no effect on mortality? If the displacement does have an effect on mortality, use the highest rate Connolly has recorded to calculate the number of people that could be expected to die.  What percent of the displaced population is the new number of possible deaths?
(source of data for displaced persons http://www.who.int/disasters/country.cfm?countryID=28&DocType=2)

(source of data for baseline mortality rate http://www.cia.gov/cia/publications/factbook/geos/cg.html )

(b) If the population of Zaire in 1960 (now Democratic Republic of Congo) was 16.2 million, calculate the point prevalence of trypanosomiasis for the entire country during this war-torn period if the number of cases of this disease there were estimated at 40,000.
(source of data for population in 1960 http://lcweb2.loc.gov/frd/cs/zaire/zr_appen.html#table2 )
(4) Polio has been eradicated in the United States and many other countries because of immunization but is a continuing problem in India.  Using the data below, calculate the morbidity rate of polio in India in 2002.
	India  - Population data in thousands 2 

	  
	2002
	2001
	2000
	1999
	1998
	1990
	1980

	Live births 
	25 221
	25 477
	25 779
	26 074
	26 307
	26 117
	23 517

	Female 15-49 years 
	259 828
	254 534
	249 253
	243 992
	238 764
	201 498
	159 836

	Pop. less than 15 years 
	349 470
	348 562
	347 158
	345 236
	342 821
	309 227
	265 551

	Pop. less than 5 years 
	119 524
	120 343
	120 878
	121 071
	120 957
	115 404
	96 705

	Surviving infants 
	23 793
	24 032
	24 261
	24 434
	24 521
	23 759
	20 294

	Total population 
	1 049 549
	1 033 395
	1 016 938
	1 000 161
	983 110
	846 418
	688 856

	


	Number of reported cases 

	  

	Diphtheria   
	5 472
	5 101
	3 094
	1 786
	1 378
	8 425
	39 231

	Measles   
	51 780
	37 969
	22 236
	21 013
	33 990
	89 612
	114 036

	Pertussis   
	34 703
	30 653
	27 851
	11 264
	31 199
	112 416
	320 109

	Polio   
	1 600
	268
	265
	2 817
	4 322
	10 408
	18 975

	Tetanus (neonatal)   
	1 718
	3 241
	1 679
	610
	2 049
	9 313
	-

	Tetanus (total)   
	-
	8 880
	6 694
	2 125
	6 705
	23 356
	45 948

	Yellow fever   
	-
	0
	-
	-
	-
	-
	


(5) Based on the data available in this assignment, which country has a lower infant mortality rate, New Zealand or India in 2002?  What information did you use to determine this?  Is New Zealand's infant mortality rate really zero?
